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AU 28(28)  AX—NEERT  9:30  BEPIK 28(28)  AX—IEERT 1030
KA V273 EY ST 4T A KA BE EY T4 T A
A=K7 4=y a2 KR 0.3C / 1.7°C A —b/T 4=y aRIR / 1.6°C
F=890
JIERE Ap=] =N BEEE 1A 2A&XB A& FF 1—X
No No K4 B %4 fFr B 4 BF R OB R OB OB RAUD
1 22 40219300 F5iE (T TiE TFHET L2 53.74  54.04 1:47.78 0.00
DID NOT START [1st RUN] 0
DID NOT FINISH [1st RUN] 0
DISQUALIFIED [1st RUN] 0
DID NOT START [2nd RUN] 0
DID NOT FINISH [2nd RUN] 0
DISQUALIFIED [2nd RUN] 0
HfrE
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AL = /T 4=y v 2Kk 0.3C / 1.7C AL =R/ T 4=y a TR / 1.6C
F=890
JIEfST 28—b =p EEEE 1A 2A&XB A& FF 1—X
No No K4 B %4 fFr B 4 BF R OB R OB OB RAUD
1 24 40212800 Bl [&— g S7—v Ry 52.72 52.56 1:45.28 0.00
2 26 40217800 FH+jE EE B NGLERAX—r 5T 59.50 59.22 1:58.72 113.62
3 23 40124700 #AK BE MR HEAX—T T T 1:13.84 1:12.62 2:26.46 348.12
DID NOT START [1st RUN] 2
25 40214800 /|NE ik M) EEAX—7 T T
27 40222800 JIl@ ik W) HEAX—I T T
DID NOT FINISH [1st RUN] 0
DISQUALIFIED [1st RUN] 0
DID NOT START [2nd RUN] 0
DID NOT FINISH [2nd RUN] 0
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DISQUALIFIED [2nd RUN] 0
Htr
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B 2 28 (28) 24— bR 9:30 B % 28 (28) 2 5 — ] 10:30
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ABR—K/T 4= 2 KIE 0.3C / 1.7C 2ABR—K/T 4=y 2 KIE /1
‘ ~ F=890
NERL Af=h = BERE - 1AH 2KH & F# L—2A
No No K4 B %4 fFr B 4 BF R OB R OB OB RAUD
1 32 40214900 K#t+ 1ERE BEFE NEXT-1 50.44 51.59 1:42.03 0.00
2 34 40219900 FEX ABH i 52.11  51.83 1:43.94 16.66
3 31 40210900 fERE HsE g NEXT-1 51.46  52.74 1:44.20 18.93
4 36 40219902 EAE = T FET LR 53.22 53.02 1:46.24 36.72
4 35 40219901 $ JE2 {:.%k HE M2 x—2r 57 52.62 53.62 1:46.24 36.72
6 30 40209900 EHH £ i 5241 5419 1:46.60 39.86
7 37 40221900 Eih NF S )| 2 AR —Y 4R 54.11 55.38 1:49.49 65.07
8 29 40208800 fHpE T Ik SR BELERSC 54.34 56.46 1:50.80  76.50
9 33 40215900 H Il e 55.21  55.77 1:50.98  78.07
10 54 KR H— 55.62  55.60 1:51.22  80.16
11 28 40126900 FHA EHH BE 57.36 58.70 1:56.06 122.38
12 51 EA NE— 1:10.56 1:12.45 2:23.01 357.47
DID NOT START [1st RUN] 0
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DID NOT FINISH  [1st RUN] 0
DISQUALIFIED [1st RUN] 0
DID NOT START [2nd RUN] 0
DID NOT FINISH  [2nd RUN] 0
DISQUALIFIED [2nd RUN] 0
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AiE#E - C - & B A AiE#E - C - & EA
AU 28(28)  AX— LB 9:30  BEPIH 28(28)  AX—IEERT 1030
K A= BE EE= RTAT A K A= BE =g NP TA
A=K7 4=y a2 KR 0.3C / 1.7°C A —b/T 4=y aRIR /1
F=890
JIEfST 28—b =p EEEE - 1KH 2AKXB & F L—x
No No K4 B %4 fFr B 4 BF R OB R OB OB RAUD
1 43 40220100 FEZE iFf0 g 49.81 50.65 1:40.46 0.00
2 39 40209100 LA 2 R 51.32 51.41 1:42.73 20.11
3 41 40212100 f&FE K BE VL2 L—v 51.30 52.06 1:43.36 25.69
4 44 40221100 IR 4 BN BEEAX—7 T 7 52.97 54.19 1:47.16 59.36
5 40 40211100 THJI| Eih Hh )l 1:00.25 1:01.47 2:01.72 188.35
6 38 31118100 /I\BK 3% = W EILA B EEE 1:04.17 1:05.62 2:09.79 259.84
7 42 40215100 M FEiE s 1:15.99 1:13.16 2:29.15 431.36
8 52 aA IR 10:00.00 51.59 10:51.59 4882.60
9 45 40223110 4 fE— e KFnKES 10:00.00 54.75 10:54.75 4910.59
DID NOT START [1st RUN] 0
DID NOT FINISH [1st RUN] 0
DISQUALIFIED [1st RUN] 0
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DID NOT START [2nd RUN]
DID NOT FINISH [2nd RUN]
DISQUALIFIED [2nd RUN]
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HiE#E - B - I 4 HiE#E - B - B
AiE#E - C - & B A AiE#E - C - & EA
AU 28(28)  AX—NEERT  9:30  BEPIK 28(28)  AX—IEERT 1030
K A= BE EE= RTAT A K A= BE EY T4 T A
A=K7 4=y a2 KR 0.3C / 1.7°C A —b/T 4=y aRIR / 1.6°C
F=890
JIEfST 28—b =p EEEE - 1A 2A&XB A& FF 1—X
No No K4 B %4 fFr B 4 BF R OB R OB OB RAUD
1 46 40208120 1z BLZ KK SFAEARSC 53.49 53.42 1:46.91 0.00
2 47 40215120 /MR OBEth B KFaKRES 54.17 5424 1:48.41 12.49
3 48 40226120 fERE fRE g 1:01.31 1:05.52 2:06.83 165.83
DID NOT START [1st RUN] 0
DID NOT FINISH [1st RUN] 0
DISQUALIFIED [1st RUN] 0
DID NOT START [2nd RUN] 0
DID NOT FINISH [2nd RUN] 0
DISQUALIFIED [2nd RUN] 0
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